
PS

DIMENSIONAMENTO   RESIDUO
(Sc mq) (Sc mq)

A B C D = (B - C) E = (A - B)
I T (*) I I T (*)

4.180 0 3.485 695 0

4.000 0 0 4.000 0
0 600 0 0 600

2.500 0 0 2.500 0
0 4.500 0 0 4.500

14.000 10.680 5.100 3.485 7.195 5.100 3.320

AP. 4,2

PS

AREA 

SD 4A

SD 4C

SD 4D

RU

antecedente alla Variante assestamento 

PREVISIONE                  

0

(Sc mq)
RESIDUO                     
(Sc mq)

REALIZZATO                   
(Sc mq)

0

T (*)

0

0
0

0

PS

DIMENSIONAMENTO   RESIDUO
(Sc mq) (Sc mq)

A B C D = (B - C) E = (A - B)
I T (*) I I T (*)

8.180 0 3.485 4.695 0

2.500 0 0 2.500 0

0 4.500 0 0 4.500

14.000 10.680 4.500 3.485 7.195 4.500 3.320

(Sc mq)

RU

(Sc mq)

0

area stralciata

REALIZZATO                   
(Sc mq)

T (*)

0

PREVISIONE                  

0

RESIDUO                     

0

AP. 4,2

PS

AREA 

SD 4A

SD 4C

SD 4D


